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QUESTION 1

You are using 2 Gb switches connected in a dual ring topology with two ISLs. What is the maximum cross-sectional
bandwidth? 

A. 800Mbyte/sec 

B. 200Mbyte/sec 

C. 400Mbyte/sec 

D. 350Mbyte/sec 

Correct Answer: A 

 

QUESTION 2

What are Fiber Optic Interconnects/Distance Rules for HP StorageWorks M-Series (McDATA) and B-Series (Brocade)
fabric switches, per cable segment between devices and switches or switches and switches using 1 Gbit/sec speed and
50/125 micron multi-mode fiber optic cable and short wavelength GBICs or GLMs? 

A. up to 500 meters maximum distance 

B. up to 300 meters maximum distance 

C. up to 1000 meters maximum distance 

D. up to 200 meters maximum distance 

Correct Answer: A 

 

QUESTION 3

Click the Task button. Place the four phases of a SAN deployment in order. 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 4

A SAN administrator plans to implement fabric wide storage virtualization. The current SAN consists of dual redundant
ring topology. Without detailed information about the virtualization, what topology should they plan to migrate to? 

A. cascaded topology 

B. tree topology 

C. meshed topology 

D. no change ring topology 

Correct Answer: B 
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QUESTION 5

What are four requirements for implementing the Brocade Secure Fabric OS with the B-Series (Brocade) of switches?
(Choose four.) 

A. at least one core switch 2/64 

B. secure Telnet client communication 

C. digital certificates 

D. secure SES client communication 

E. firmware, zoning, and security licenses 

F. Fabric Management Policy Sets 

G. dedicated security server 

Correct Answer: BCEF 
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